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mL | 1000 £ |09
N . mg | 1000 s
7L= ... mL 35kg= .... mg 2km= .... cm
7 x 1000 = 7000 35 x 1000000 = 35000000 2 x 100000 = 200000
7 L=7000 mL 35 kg = 35000000 mg 2 km = 200000 cm
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970mL= ... L 6300000 mg = ..... kg 1200mm = ... cm
970 + 1000 = 0.97 6300000 =+ 1000000 = 6.30 1200 +10=120
970 mL=0.97 L 6300000 mg = 6.3 kg 1200 mm=120cm
aloli 4 (5 e 20y o palldilee 1) 13
DAL = .. mL 148g = ... mg 634m= .... cm
0.117 x 1000 = 117 14.8 x 1000 = 14800 6.34 x 100 = 634
6.34 m=634 cm

0.117L=117mL

2345mL= .... L
2345 + 1000 =097
2345 mL=0.23451

14.8 g = 14800 mg

Pg= ... kg 11.7em= ... m
99 = 1000 = 0.099 11.7 <100 =0.117
99 mg =0.099 kg 11.7cm=0.117 km




